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For each equation provided, determine the following molar ratios.

a

N, + 3H, > 2NH,
N,:H, =

250, +0,» 280,
0O,:80, =
O,:S80,-=

PCI3 + CI2 > PCI5
PCl, : Cl, =
PCl, : PCI, =

4NH, + 30, 2N, + 6H,0
NH,: N, =
H,O:0,=

Fe,O, + 3CO » 2Fe + 3CO,
CO:CO, =
Fe:CO =

2Al + 6HCI » 2AIC, + 3H,
Al : AICI, =

HCI: H, =

2

9

CH, +20,»CO, +2H,0
CH,:0O,=
O,:HO=

4Fe + 30, » 2Fe O,
Fe :Fe,O, =

O, : Fe,O,

6Mg + P, > 2Mg,P,
Mg : Mg,P, =

P4 : Mg,P, =

3MgCl, + 2Al 5> 3Mg + 2AICI,
MgCl, : Al =
Al : AICI, =

WO, + 3H, > W + 3H,0
WO, : W =
H,:HO =

H, +1,> 2HI
H,:HI =
[, :HI =

2



N, + 3H, > 2NH,
N2 : H2 =1:3

NH :H2= 2:3

3

2580, + O, » 280,
O,:80,=12
O,:80,=1:2

PCI3 + CI2 > PCI5
PCI3 : CI2 = 1:1
PCl, : PCI, = 1:1

4NH, + 30, > 2N, + 6H,0
NH, : N, = 2:1
HZO : O‘2 =2:1

Fe,O, + 3CO » 2Fe + 3CO,
CO:CO, =11
Fe:CO=2:3

2Al + 6HCI » 2AIC, + 3H,
Al : AICI, = 1:1
HCI : H, = 2:1
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)m

CH, +20,»CO, +2H,0
CH,:0,=1:2
O,:HO= 11

4Fe + 30, » 2Fe O,
Fe :Fe,O,=2:1

O,:Fe0,=3:2

6Mg + P, > 2Mg,P,
Mg : Mg,P, = 3:1
P4 : Mg,P, =12

3MgCl, + 2Al > 3Mg + 2AICI,
MgCl, : Al = 3:2
Al : AICI, = 1:1

WO, + 3H, > W + 3H,0
WO, : W = 1:1
H,:H,0 =11

H, +1,> 2HI
H,:HI =12
[ :HI=1:2

2



